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FORMULAIRE DE

Cosinus Sinus
R cos [_1’ 1] R sin [_1’ 1]
0.7 e L [-3.3] —— [-11]

—1<cosf <1

cos est 2w-périodique :

cos (6 + 2m) = cos 0
Vk € Z, cos (6 + 2km) = cos 0

cos est pair : cos(—0) = cos 6

cos(a + b) = cosacosb — sinasinb

cos(a — b) = cosacosb + sinasinb

cos(2a) = 2cos’a — 1

=1-2sin’a
cos (m —0) = —cos 6 sin (7 — 6
cos (m+6) = —cos 6 sin (7 + 6
™ .
cos (5 — 9) = sin 0
cos(%—l—@)z—sin@ bm(%—k&
Pythagore :

Vo € R,

Formules de linéarisation :

arcsin

—-1<sinf <1
sin est 2m-périodique :
sin (f 4 27) = sin 6
Vk € Z, sin (0 + 2km) = sin 0
sin est impair : sin (—0) = —sin 6
sin(a 4+ b) = sina cosb + cosasinb
sin(a — b) = sinacosb — cosasinb

sin(2a) = 2sinacosa

cos? 0 +sin?6 =1

1
cosacosb = 5 (cos(a + b) + cos(a — b))

1
sinasinb = 3 (cos(a — b) — cos(a + b))

1
sinacosb = 3 (sin(a + b) + sin(a — b))

TRIGONOMETRIE

Tangente

R\{Z+km kez)l - R

tan est m périodique :

tan est impaire :

Angles remarquables :

} 7%7 % [ arctan

tan (6 + 7) = tan 6
Vk € Z, tan (6 + k) = tan 0

tan (—0) = —tan 6

tan (f — ) = —tan 6
tan (0 4+ m) = tan 0

R

AU EE
cosf | 1| L | 2| 1 |9
sinf |0 % % § 1
tan 6 | 0 % 1 | V3] x




